
Paper Code 

Number:     2831 

                           2015 (A)                      Roll No: ____________ 

INTERMEDIATE PART-I (11
th

 CLASS)                                                

 

COMPUTER SCIENCE    PAPER-I   (OLD SCHEME) TIME ALLOWED: 20 Minutes 

    OBJECTIVE  MAXIMUM MARKS: 15 

Note:  You have four choices for each objective type question as A, B, C and D.  The choice which you                         

think is correct, fill that circle in front of that question number.  Use marker or pen to fill the circles.                    

Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions 

as given in objective type question paper and leave others blank.  No credit will be awarded in case  

BUBBLES are not filled.   Do not solve question on this sheet of OBJECTIVE PAPER.                                                         

 

   Q.No.1             

(1)     The electronic circuit that executes computer instructions is called a:- 

  (A) Monitor  (B) CPU  (C) Hard Disk  (D) Keyboard 

(2)     DSL stands for:-  (A) Direct Service Lease  

  (B) Domain Server Link      (C) Distant Service Line    (D) Digital Subscriber Line  

(3)     ____ communication medium requires line-of-sight. 

    (A) Microwave (B) Fibre optic  (C) Twisted pair (D) Coaxial 

(4)     Many products are designed by using:- 

  (A) ATM  (B) ROBOT  (C) CAD  (D) CAM 

(5)     The brain of the computer that executes the instructions is called:-  

  (A) RAM  (B) CPU  (C) Motherboard (D) System Unit 

(6)     CPU includes all of the following components except:-  

  (A)  Primary storage     (B) ALU  (C) Control Unit (D) Register 

(7)     The circuit board on which the processor and other chips are placed is called:- 

  (A) Big Board (B) Mother board (C) Master circuit (D) Connector circuit  

(8)     Temporary storage area within CPU is called:- 

  (A) Registers  (B) ROM  (C) RAM  (D) Cache 

(9)     The difference between ROM and RAM is:- 

  (A)ROM is larger (B) ROM is non-volatile    (C) ROM is read only    (D) Both B and C 

(10)   Trojan Horse is a/an:- 

  (A) Antivirus  (B) Virus  (C) Software  (D) Hardware  

(11)   GUI stands for:-  (A) Graphical User Interface     

  (B) General User Interrupt     (C) Graphs, Utilities, Icons     (D) Greyed User Interface 

(12)   The normal orientation for printing is:- 

  (A) Portrait  (B) Vertical  (C) Landscape  (D) Horizontal 

(13)   Default name of first sheet in any workbook is:- 

  (A)  One  (B) Sheet 1  (C) Sheet one  (D) First sheet 

(14)    Web pages are connected to one another using:- 

  (A) Hyperlinks (B) HTTP  (C) Interlink  (D) Multimedia  

(15)   The three-character extension that designates a URL as a commercial site is:- 

  (A) gov  (B) com  (C) org  (D) mil  
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